A
15 27 33 38 27 38 —
V V
|
/ . 5 29 39 29 39
—ed [ OI
|
39
I | 29
- | -3- . °
- - * ®
- - 9 \ .
. . . . . . . l . . . T By A\ A ~3-
] - * * 10
i \ -
e
- - * *
] aran A va u
\ NN\ * \ * y. 6
NN 4 //
= =
N
- * *
* ! * L J * ! * [ L ! * ! * ! * -¢ - -9-
[ ® | i} 0 |
| | | | | |
|
°n - -
| B 945 _
— -
A
36 Y 30 ' 23 22 _ 2630 _
DETAIL B ' ' ' ' ' ' ' ' '
MERITKO 1 : 2 4 ' ' ' ' ' ' ' ' ' 2
* * *
* * *
T - 6  [HLINIKOVY NYT KLEMPIRSKY 4x6 0.00 HLINIK 41
16 |PODLOZKA POD NYTY 5,30 0.00 DIN 9021 40
66 |PODLOZKA 5,30 0.00 DIN 125 39
o T 40  |PODLOZKA 8,40 0.00 DIN 125 38
% : : : : : : : ' : J] 4 |PODLOZKA 10,50 0.00 DIN 125 37
' ' ' ' ' ' ' ' ' 12 |PODLOZKA 13 0.01 DIN 125 36
6  [NYTOVACI MATICE M5 0.00 POZINK. 35
16 |MATICE M5 0.00 DIN 929 34
3 |MATICE M8 0.01 DIN 929 33
16 |MATICE M8 0.00 DIN 934 32
2 [MATICE M10 0.01 DIN 934 31
6  |[MATICE M12 0.02 DIN 934 30
35 80  [SROUB M5x10 0.00 1SO 7380 29
16 |SROUB M5x14 0.00 1SO 7380 28
24 |SROUB M8x25 0.02 DIN 931 27
8  |SROUB M8x25 0.02 DIN 912 26
. 2 |SROUB M10x60 0.05 DIN 931 25
13 -q- 2 [SROUB M12x30 0.05 DIN 931 24
= B 4 |SROUB M12x45 0.06 DIN 931 23
1 |PERO 8x7x120 0.05 CSN 02 2562 22
4 |DALAP RAB TURBO 200 1.96 DALAP 21
36 30 23 16 -4- 2 |POJEZDOVE KOLO RE.F8-125-PBL-H 0.64 ELESA 20
v v v 2 |POJEZDOVE KOLO RE.F8-125-SBF-H 1.27 ELESA 19
B 1 |MOTOR 3x250V - 1400 OT./MIN - 0,25kW 478 TEC - TOP 18
e cpn-wnsra|
R - - - - - - 1 |LOZISKOVY DOMECEK SY 40 TR S KRYTEM 2.64 SKF 16
1 |LOZISKOVY DOMECEK SY 40 TR 2.57 SKF 15
14 |PODLOZKA PL.2x @50 0.03 11373 C 25 00-00-11 14
-4- 3 |MATICE PL.25/3x280 0.16 11373 C 25 00-00-10 13
1 |PLETIVO SVAROVANE 3x894x2049 OKO 30x30 7.40 17241 C 25 00-00-09 12
1 |VANICKA PL.1x458x698 2.44 17240 C 25 00-00-08 11
1 |BOCNICE POZINKOVANY PLECH 0.6x630x2215 6.57 11373 C 25 00-00-07 10
1 |BOCNICE POZINKOVANY PLECH 0,60x630x2215 6.57 11373 C 25 00-00-06 9
-4 2 [VYSOUVACI NOHA - PODSESTAVA 1.12 C 25 00-00-05 8
: : : : 1 |SPOJKA - PODSESTAVBA 147 C 25 00-00-04 7
' ' ' ' ' T 1 |PLETIVO SVAROVANE 3x890x895 OKO30x30 3.06 17241 C 25 00-00-03 6
T 1 |VIKO POZINKOVANY PLECH 0,60x1215x2219 12.67 11373 C 25 00-00-02 5
1 |PRIRUBA POHONU @ 200x25 2.66 11373 C 25 00-00-01 4
1 |GELO CHLADIGE - PODSESTAVA 13.97 C 25 00-03-00 3
1 |VALEC - PODSESTAVA 54.63 C 25 00-02-00 2
1 |RAM - PODSESTAVA 52.84 C 25 00-01-00 1
KS. NAZEV - ROZMER HMOT. MAT. NORMA POZ.
POIN. Sestan
E KRESLIL KUCERA
1 2 1 4 1 2 20 8 MERITKO PREZKOUSEL < s %) 5
- P ] P 11 0 VYR. PROJEDNAL & 2 fa a
29 27 2_5 . SCHVALIL 2 5 Q z
DNE 20.12.2021
v 32 31 TYP STROJ Sory Novy
REZAA 38 37 'BUBNOVY CHLADIC PELET C 25 00-00-00
ListQ List



	List
	Pohled výkresu1
	Pohled výkresu2
	Pohled výkresu3
	Pohled výkresu4
	Pohled výkresu5
	Řez A-A
	Detailní pohled B (1 : 2)


